
B.C.A. DEGREE EXAMINATION — 
JUNE, 2010.

Second Year
COMPUTER ORIENTED NUMERICAL METHODS
Time : 3 hours
Maximum marks : 75

PART A — (5 ( 5 = 25 marks)

Answer any FIVE questions.

1. How the numbers are represented in floating point form?

2. Describe the Bisection method.

3. Solve by Gauss-elimination method :
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4. Derive the Lagrange’s interpolation formula.

5. Find the value of 
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 from the following data :

	x :
	20
	23
	26
	29

	y :
	0.3420
	0.3907
	0.4384
	0.4848


6. Derive the Trapezoidal rule.

7. Using Euler’s method, find 
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PART B — (5 ( 10 = 50 marks)

Answer any FIVE questions.

8. Find the real root of 
[image: image10.wmf]15

3

9

10

11

-

+

+

+

x

x

x

x

 correct to four decimal places, using Newton-Raphson method.

9. Solve by Gauss-Jordan method :
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10. Solve the following system of equation by Gauss-Seidal iteration method :
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11. Derive the Newton’s backward interpolation formula.

12. Fit the best straight line to the following data and estimate the value of 
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	x :
	0
	1
	2
	4
	5

	f :
	6
	5
	3
	0
	–3


13. By dividing the range into ten equal parts, evaluate 
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 by Trapezoidal rule and Simpson’s 1/3 rule.

14. Compute y for 
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 using R-K IV order.
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